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2023
COMMERCE
( Honours Elective )
Paper : COM-HE-6016
( Fundamentals of Investment)
Full Marks : 80
Time : Three hours

The flgures in the margin indicate
marks for the questions.

&
Ans&r either in English or in Assamese.

1. Answer the following as directed :

| 1x10=10
frEn woe e Ted 34 ¢
fa) Write the full form of CARE.

CARE 7 = %1 foran )



















(c) . What do you mean by mutual fund ?
l‘/ Discuss the different types of mutual
fund. : 2+8=10

F Tzdh e IEm B e [@fen awma
/ Trazdim offerna SEsal 4 |

5 (d) Discuss the role played by SEBI in the
? protection of interest of the investors
Y in Indian securities market.

1

eRew ofogfed Fwee RfwsE 7=
%14 7afwe WA SEBI @ 97 A g
STAG 341 |

fe) What are the basic features of
financial derivatives ? Also state briefly

¥ J about the major participants in
financial derivative market. 5+5=10

faém fEaRreien 1o (e Eae & far fadm
fEatrefe o IH THITFA FEAAE
’%_ - R ooe e =40

() What is efficient market hypothesis ?
Discuss about the different forms of
efficient market hypothesis.

R az@ wRd &0 IR amA gRaR
fafen g [ac wcEsa 341
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dnyuumnbybond?Mr. X
p 10% coupon rate bond.
The bond have a face value of
Rs.10,000 and maturity of 4 yecars. i
the current market interest rate is 8%,
find the value of the bond using
present value method.

If the current market price of the bond
is 'Rs.9,000; state whether X should
sell it or hold it till its maturity, along
with the reason.

(Present value of Re.1 at 8% discount
rate is as follows :

1 year - 0.926, 2 years - 0.857,

3 years - 0.794, 4 years ~ 0.735)
B X @ 10% W TR I8 T FA| 92
gaq ¥ @ 10,000 5 S (W 4 T
2 7 SRS BA 24 8%, IEW &1 %
YA T e oy Fed@e w40

ofi 497 5f@® FER T& 9,000 5F W, X ¢
e & A0 The =@ I AT
! ThHe 24|

(8% 3MGA ZAE 1 TIM TG [ S Tl
zA s -

1% 78 — 0.926, 28 T — 0.857,

35 7 — 0.794, 49 I — 0.735)
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